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Aufgaben-Quickname: 5705

Aufgabe 1

Ergénze die fehlenden Briiche.

a)ﬂ.m_%g
82 * 31 — 1640
d)ﬁ.?ﬂ_ﬂ
90 - 75 — 192
)ﬁ.ﬂ_&
&) 75 - 87 — 915
-)Q.Q_L
195 -5 = 19

Aufgabe 2

Erganze die fehlenden Briiche.

)l-ﬁ_ﬁ
) 19 - 16 — 235
4 .5 36
17:9=5%
5. 15 17
8617 = 18
L2017 _ 8
V520 = 17

Aufgabe 3

by 19 . 86 _ 1767
2 ° 93 — 2236
53 .39 _ 424
€) 95 * 40 — TAL
by 24 .45 _ 632

579 = 1975

1 .14 1

b) 25 T9 = 280
)E.E_ﬂ
€19 - 17 — 247
7 .15 _ 112
h) 17 16 = 255

Ergénze die fehlenden Briiche.

a) 113 : 175 = 22
d)l%:l%z%—g
93515~ 123
)1 1o = 250
Aufgabe 4

Ergénze die fehlenden Briiche.

a) 17 .

N 1\V]
[@p [y

www.dw-aufgaben.de

b)

|—l|»—\
<

W=

ol
I
wo
NI

I
)2
[e»/ Ne)

NS
I
)
==
|

Seite 1

(S) [

DO —

[\

28.07.2013

bsp-5705-3/BBKX

Quick:
5705

Quick:
5705

Quick:
5705

Quick:
5705



LOSUNG zu bsp-5705-3/BBKX

11 .4 __ o7 6 .13 _ 117 17 . 18 5
d) 75 =315 e)7:18 = loT f) 16 - 10 = losg
7 .12 7 5 19 20 11 .3 _ 12
81717 = 12 h) 134 = 317 )15:5=15

3.3

Viel Erfolg!
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